This Question Paper consists of 36 questions and 10 printed pages including 4 figures + Graph Sheet.
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2.

General Instructions :

1 Candidate must write his/her Number on the first page of the Question Paper.

2 Please check the Questio ?’éper to verify that the total pages and the total number of questions
contained in the Questi aper are the-same as those printed on the top of the first page. Also
check to see that the stions_.are in sequential order.

3 For the objective of questions, you have to choose any one of the four alternatives given in
the question i.% , (B), (C)and (D) and indicate your correct answer in the Answer-Book given
to you.

4 All the questions including objective type questions are to be answered within the allotted time and
no separate time limit.is fixed for answering objective type questions.

5 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

6 Write your Question Paper Code No. 62/0S/2, Set — [ A | on the Answer-Book.

7 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer

in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugh, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the answer-book.

(b)  Ifyouchoose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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TUETE Y9I b UEH USS UX SUAT SThHIh oAy g |

FUAT YIS Bl TG o {6 YTUH F P YoSI qUT YA Bl I & TE&AT & T Yo ISs
% 99 FUX BUI ¢ | 39 I1G B A9 W B W 6 YT hiHp €A ¥ |

Jegfres gl & smuml @ fawedt (A), (B), (C) @41 (D) § ¥ i3 Tk A A1 & qan 4
T SA-gRas § 9 Hel X faray |

JEIFTSS Yol & T-|re qH Ul & I (eiika oty & Wi & 3 € | axghre weAt
% foQ o @ w9g Tl fean s |

SA-YRaaT ¥ veaH-fag e stean fifds el & sifafiad & ff sghie faes w
AT Bl ST SETAT SR |

ST TA-YRAHT T WA B FE T 62/08/2, Set — | A | Fh |

(@) WIS haw fEal/eien § ¥ | fAT off, afs oy o€ @t e 3 13 fopell Uwsp mon § SR
T ghd ¢

picpull, ARG, TR, U], B, Hgpa ofiT el |

ngﬁawﬁ%mwﬁﬁi@%m%&wﬁwﬁm@%|

(@) 3fx oy & we & %aﬁrﬁaﬁﬁﬁ@wwﬁwmﬁ%?ﬁuﬁaﬁwﬁ
ﬁ@%a@gﬁ@mﬁwmmw|
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Time :

MATHEMATICS
(o)
@11)

1
25 Hours] [Maximum Marks : 85

1
W:ZEEI'U%] [qurics : 85

Note :

et

(i)

(i)
(iii)
(iv)
V)

(i)
(iii)
(iv)
v)

Question Numbers 1 to 10 are Multiple Choice Questions. Each question
carries one mark. For each question, four alternative choices (A), (B), (C) and
(D) are provided of which only one is correct. You have to select the correct
alternative and indicate it in the answer-book provided to you by writing (A),
(B), (C) or (D) as the case may be. Q. No. 11 to 15 also carry one mark each.

Question Numbers 16 to 25 carry 2 marks each.

Question Numbers 26 to 33 carry 4 marks each.

Question Numbers 34 to 36 carry 6 marks each.

All questions are compulsory.

~

99T & 12' 10 a% Sg[ahedl 999 (Multiple Choice Questions) ¥ | U
EER] u@m & ¥ Y 99T § 9 fawew (A), (B), (C) dur (D) fow w
%%ﬁ%%@rmwaﬁ%mwﬁww%ammuﬁw
T AT FI-YRaH H (A), (B), (C) Frgar (D) St o1 &, fa@ay qvin
TLUST "Em 11 % 15 ff 7% ok & T

UYT w16 § 25 9% TS 9T & 2 3id T

U W@ 26 € 33 T% UIH U &b 4 3% |

U7 W@ 34 ¥ 36 T% UA® U b 6 3F

gl g AtEd ¥
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1 From the following identify the whole number : 1

e § 9 e O 9 & @ wsee s

A) 0 B) -1
1
© 2 ® <
2 Which of the following is in AP ? 1
= 9 ¥ SFE o% Wil 9%l % 7
(A) 6,7, 8,9, 10, ... B) -5, -1, 3, 8, 11, ...
(C) a, a+b, a+2b, a+4b, ... (D) 3,7, 12, 18, 25, .......
3 In 1—2xy+2x2y2 —2xy2 +5x2y, the co-efficient of xoyo is™= 1

1—2xy+2x2y2—2xy2+5x2y i xOyO H G & —

(A) 5 B) 2
©) 1 D) 0
4 How many lines can be drawn passing. through two given points ? 1
(A) One & e
(C) Three &§’ (D) Infinity many
aﬁqwﬁg@@%@wwwwwwmm% 7
@ B @
(C) (D) ot &9 ¥ oFs
5 In a parallelogram ABCD if ZBAD = ZABC, then ABCD is a - 1
(A) Rhombus (B) Rectangle
(C) Trapezium (D) Kite
Th G agqs ABCD ¥ A LBAD = LABC, @ ABCD U T
(A) FTEgHS (B) amaa
(C) 9Hdd (D) 9o
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6 The point whose co-ordinates (4, —2) lie is the - 1

(A) 15t Quadrant (B) 2nd Quadrant
(C) 3t Quadrant (D) 4th Quadrant
s fig fras feae @, 2) ¥, Rem ¥ -
(A) wgq Tgafer o (B) feim aguter
(C) Jaa Tgatsr ¥ (D) =gd aguter o
7 The perimeter of a rhombus of side a is - 1
Y ‘o’ A SHEgHS w1 IRET ¥ -
(A) d* (B) 4a
(C) 2a (D) 2a
8 In the given fig. which of the following is true ? 1
H T oy H P ¥ ¥ B W owm § 7
C
5 4
A B SQ\§
S
A) t A—i (&\ B tanA—g
@ nd=g (B) tand=-
N
©) tanA=% (D) tanA:3
3 4
9 The value of “sec 45° is : 1
(A) Not defined B) 2
© 2 D) 1
sec 45° @ A ¥ :
(A) ufwid T2 2 (B) 2
© 2 D) 1
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11

12

13

14

15

While calculating compound interest for some principal amount -

(A) the principal remains the same for every year.
(B) the principal changes every year.

(C) the interest is same for each year.

(D) the interest doubles every year.

forel i3 (M) @1 <ohglg A €A & |
(A) 9% I H @A I8 @l § |

(B) Wi a9 @Y T WA % |

(C) &% ¥ &1 & G @l © |

(D) 9% a9 =S AT B S e |

If 12% of x=69, then find the value of x.
I x B/ 12%=69 T, A x & T I BT |

Find the volume of a cuboidal stone slab of length 2 m, breadth 3 m and. thickness 1

1

—1m.

4

Teh TR GLR Bl WE bl ST Sd Bive, IS 39! wars 2 |1, 9ieE 3 9

awn‘m—é%ﬁr% |

In the given figure AOB is the diameter of the circle, AC =3 cm and

BC =4 cm, then what is the radius of ‘circle ?

& T ety ¥ AOB q;@&am gl AC=33W qu BC=43 %,
?

a‘rg_?ra%%]wﬁo—c@é

Find the LCM of 4x? y3 and x° y2 where x and y are prime numbers.

IR x qAT p AT TG ¥, @A 4x2)° qOm x0p? @ @da. (LCM) Sd ST |

If the co-ordinates of the vertices of a triangle are (2, —1), (3, -2) and (4, 3), 1

then find the centroid of the triangle.

gty us Brqger & ofiwt & Frdsties (2, -1), (3, 2) Ta (4, 3) ¥, a1 Byt &1 Fsk

MA@ BT |

62/0S/2—211_A | 6

[ Contd...

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

3 3
16 Out of 2% and (22) which is greater ? Give reason. 2
53 I
2 aw(z)ﬁ@raﬁww%?w?ﬁq|

17 If the price of a book is reduced from ¥ 120 to I 96, what is the percentage 2
reduction ?

I TH JEH B T < 120 ¥ "I % 96 HY feam s, @ wlasd Al I
BHINTT |

18 If the base of an isosceles triangle is of length 12 cm and the length of each 2
equal side is 10 cm, then find the area of the triangle.

gfy weh gufEag By & oMU @ @arE 12 W ¥ 9O yde SHrT e 10 9
e %, @ e @ dEwa S| st |

19 If sinl00=cos86 and 100 is an accute angle, then find the value of tan96. 2
angles.

Il sin100=cos86 T Mk 100 TH TABI &, G an96 H 9 TMd BT |

[\8)

20 If the angle of elevation of a flying kite, from~the ground is 60° and the length
of the thread is 2043 m, then find the height of the kite from the ground.
H&@@%@W@\\@@rwaﬁwm°%6msﬂaﬁéﬁaﬁm
2043 4 %, G e ufn & et B |

NS
N

21  If the mean (@: numbers x|, X7, X3, ..... , X10 1is 20, then what will be the mean 2

of x1 +4,xp +4, x3 +4, .. ,Xj0+4 ?

i gement X|» X25X3, ... , X190 b1 "1 20 %, @ xp+4,x) +4,x3+4, ... , X109 +4
H AT T e 7

22 The number of mobile sets in each of the 25 households are given below : 2
1,2,2,4,2,1,3,3,1,0,2,3, 4,5 1,1, 1,2,3,0, 1,2, 1, 2, 0
Now construct a frequency table for this data.
25 B0 H e H AERA 2wl §E ™ A TE © o
1,2,2,4,2,1,3,3,1,0,2,3,4,5 1,1, 1,2,3,0, 1,2, 1, 2, 0
SUUR Sfihs! & AU TH IEar Qe g |
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4

23 In a triangle ABC mid points of BC, CA and AB are D, E and F respectively.
EF intersects the altitude AD at 0. If AD =6 cm, then find the length of AO.
s S ABC ® D, E @1 F %9 BC, CA T AB % AeAfdg & | EF @9 AD
@ 0 YT UfeRE Hial & | AR AD=6TW T, 9 A0 B WEE Td BN |

24 Radius of two circles are 3.5cm and 2 cm and the circles touch internally at a
point. Find the distance between the two centres.
a1 gal @ B 3.5 EHT qUT 2% ¢ 9« g9 Us gE @l U O 6§ W
Wl BT | FAl b A HA b S DI U A DI |

25 In the given figure AB||OR; if AP=4cm, AQ=3cm and BR=4.5cm,
then find the value of x.
A T Apla ¥ AB||OR ¥ 1T AP =4TH, 40 =3 TN qAT BR=4.59W ¥,
A x BT A A DI |

2 2 2
26 Subtract x“—x—1 from t@Sum of 3x“—8x+12 and —3x“+11x+3.
\
3x2 —8x+12 @ +11lx+3 B amea § ¥ x2—x—1 Or AU
S

27 Find the soluti%%f the (following pair of equations :
= W@u BT A BN
3x+4y=17,4x-3y=6

28 A shopkeeper sells rice at a profit of 10% and uses weights which weighs 10%
less than the ‘actual weight. Find the total gain earned by the shopkeeper.
Th THAER 10% @9 T 96| S9dl ¢ 93 98 S 91 JAN & 8, a8 10%
F TEd & | THEGR P IRAMS A9 TG BT |

29 If x=acosO+bsin® and y=5bcosO —asinO, then show that x2 +)/2=a2 +b2.
I x=acosO+bsin® AT y=bhcos®—asin® 3T, @ g *HIfT fp
x2+y2=a2+b2.
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30

31

Two different dice are thrown together. Find the probability that the numbers 4
obtained on both dice

(i) have a sum less than 7.

(i1)) have a product less than 16.

Y o= Ul @ U Wy SR Shar | WiRiehdT I eiie fR Wi ural ux
g TS

() & AT 7 Y BT |

(i) & PHRA 16 § & & |

The following is the frequency distribution of ages (in years) of 20 members 4
of a club. Draw a frequency polygone for this data :

Ages | 20-30]30-40|40-50|50 - 60|60 - 70|70 - 80

Number of

Members‘l|3|l‘6‘4‘5

TH FE & 20 GEEl Bl oY (AW #) B IHIRAT §eF A &A@ W F |
3 Sfbel ¥ Uh SHERAl S 9% Wiy |

g (ast ®) | 20-30(30-40{40 - 50|50 — 60 [60 +70[70 — 80

HqIE H qE&n 1 3 1 6 4 5
OR / 30T

(For Visually impaired students)
it fendfia % for)
For the following frquﬁﬁc% table

Classes | 15-28120-25]25=30{30-35|35— 40|40 45| 4550

Frequency|&@o|3|5|7|4|3|l
(i) Write theSelass limits of the class 25— 30.

(ii) Find the class. mark of the class 35 —40.

(iii)) Write the«lower limit of the class 15— 20.

(iv) Form a cummulative frequency table.

=1 sERar .\t & Wy

EAl | 15—20|20—25|25—30|30—35|35—40|40—45|45—50

-erri-ernm|2|3|5|7|4|3|1
() @ 25-30 & o g9 f@Ray |

(i) @ 35-40 @1 T fug fafaw |

(iii) M 15-20 B JFaw d fafag |

(iv) o SRERAr "Rl g9 |
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32  Prove that the three points with co-ordinates O (0, 0), 4 (4, 3) and B (8, 6) are
collinear.
fog Ao e dm fig, R frdstie 0 (0, 0), 4 (4, 3) Tam B(8, 6) &, @ T |

33 In the given figure O is the centre of the circle and the angle between two
radii O4 and OB is 130°. If the tangents to the circle from the points 4 and B
intersect at 7, then find £ ATB and £ ATO.
A M BT W, O JT B & ¢ qo1 BeEmell 04 9 OB & a9 & BT 130°
T 1R AT BE T W WA T Wl T T W Frdl 8, A L ATB T
Z ATO T1d &g |

A
T
B

34 Prove that in a triangle, if the square on one side‘is equal to sum of the squares
on the other two sides, then the angle opposite to the first side is a right angle.
gy uh BT @ s Y B G, o A qEUel & T b AN FH AW T,
dl s *IT 6 9eell Yo @ @ HIO GER BT 2 |

35 A metalic solid of vol hiegl m3 is“melted and drawn into the form of a wire
of diameter 3.5 mm.@%‘d the length of the wire so drawn.
a@%aﬁﬁiﬂa@uﬁ 1498 %, o fuaame 3.5 99 <99 % Uk dX & w9 o
giar T | @‘%‘R T AR @B @G S BT |

36 Find the sum of first seventeen terms of an A.P. whose 4th and 9th terms are
—15 and 30 respectively.
THh gHae Jel (A.P) Rias A9 g Ha 98 wHen —15 du 30 ¥, & wUH
17 9&f &1 INThA 3 BT |
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This Question Paper consists of 36 questions and 10 printed pages including 4 figures + Graph Sheet.

3 G- ¥ 36 YT qur 10 Hixq g ¥ e 4 foF - v e ¥

Roll No. Code No. 62/0S/2
AT S qEA
Set No. - B
MATHEMATICS AT T
Q211)

Day and Date of Examination

(wvem =t fom 7 fe=in)

Signature of Invigilators 1.

(Friei % swer)

2.

General Instructions :

1 Candidate must write his/her Number on the first page of the Question Paper.

2 Please check the Questio ?’éper to verify that the total pages and the total number of questions
contained in the Questi aper are the-same as those printed on the top of the first page. Also
check to see that the stions_.are in sequential order.

3 For the objective of questions, you have to choose any one of the four alternatives given in
the question i.% , (B), (C)and (D) and indicate your correct answer in the Answer-Book given
to you.

4 All the questions including objective type questions are to be answered within the allotted time and
no separate time limit.is fixed for answering objective type questions.

5 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

6 Write your Question Paper Code No. 62/0S/2, Set — on the Answer-Book.

7 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer

in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugh, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the answer-book.

(b)  Ifyouchoose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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A ST

1

2

TUETE Y9I b UEH USS UX SUAT SThHIh oAy g |

FUAT YIS Bl TG o {6 YTUH F P YoSI qUT YA Bl I & TE&AT & T Yo ISs
% 99 FUX BUI ¢ | 39 I1G B A9 W B W 6 YT hiHp €A ¥ |

Jegfres gl & smuml @ fawedt (A), (B), (C) @41 (D) § ¥ i3 Tk A A1 & qan 4
T SA-gRas § 9 Hel X faray |

JEIFTSS Yol & T-|re qH Ul & I (eiika oty & Wi & 3 € | axghre weAt
% foQ o @ w9g Tl fean s |

SA-YRaaT ¥ veaH-fag e stean fifds el & sifafiad & ff sghie faes w
AT Bl ST SETAT SR |

O TR -GRebT X WIS B B TE@ET 62/0S/2, Set— [B] @

(@) WIS haw fEal/eien § ¥ | fAT off, afs oy o€ @t e 3 13 fopell Uwsp mon § SR
T ghd ¢

picpull, ARG, TR, U], B, Hgpa ofiT el |

ngﬁawﬁ%mwﬁﬁi@%m%&wﬁwﬁm@%|

(@) 3fx oy & we & %aﬁrﬁaﬁﬁﬁ@wwﬁwmﬁ%?ﬁuﬁaﬁwﬁ
ﬁ@%a@gﬁ@mﬁwmmw|

@Q
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Time :

MATHEMATICS
(o)
@11)

1
25 Hours] [Maximum Marks : 85

1
W:ZEEI'U%] [qurics : 85

Note :

et

(i)

(i)
(iii)
(iv)
V)

(i)
(iii)
(iv)
v)

Question Numbers 1 to 10 are Multiple Choice Questions. Each question
carries one mark. For each question, four alternative choices (A), (B), (C) and
(D) are provided of which only one is correct. You have to select the correct
alternative and indicate it in the answer-book provided to you by writing (A),
(B), (C) or (D) as the case may be. Q. No. 11 to 15 also carry one mark each.

Question Numbers 16 to 25 carry 2 marks each.

Question Numbers 26 to 33 carry 4 marks each.

Question Numbers 34 to 36 carry 6 marks each.

All questions are compulsory.

~

99T & 12' 10 a% Sg[ahedl 999 (Multiple Choice Questions) ¥ | U
EER] u@m & ¥ Y 99T § 9 fawew (A), (B), (C) dur (D) fow w
%%ﬁ%%@rmwaﬁ%mwﬁww%ammuﬁw
T AT FI-YRaH H (A), (B), (C) Frgar (D) St o1 &, fa@ay qvin
TLUST "Em 11 % 15 ff 7% ok & T

UYT w16 § 25 9% TS 9T & 2 3id T

U W@ 26 € 33 T% UIH U &b 4 3% |

U7 W@ 34 ¥ 36 T% UA® U b 6 3F

gl g AtEd ¥
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1 In a parallelogram ABCD if ZBAD = ZABC, then ABCD is a - 1

(A) Rhombus (B) Rectangle
(C) Trapezium (D) Kite
Th G agqsl ABCD ® d® /BAD = /ABC, @ ABCD & T
(A) TEagq (B) omad
(C) Tuad (D) udw
2 How many lines can be drawn passing through two given points ? 1
(A) One (B) Two
(C) Three (D) Infinity many
4 i U figel ¥ SR Tere el Readt Y@ @il o gedr € 7
(A) Th (B)
(C) (D) it &9 & o
3 Which of the following is in AP ? 1
= 4 ¥ FE o wEae g6l B 7
(A) 6,7, 8, 9,10, ... B) -5, -1, 3, 8 11, ......
(C) a, a+tb, at2b, a+4b, ... (D) .3,7, 12, 18, 25, ......
N
2.2 % 2 2 0.0
4 In 1-2xy+2x“y xy~ +5x“y, the co-efficient of x 'y~ is - 1
N
2 2 2 : 0.0 :
1-2xy +2x @—2@/ +5x%y ® x'y’ @ NMIED T -
(A) 5 B) 2
© 1 D) 0
5 From the following identify the whole number : 1
1 o o o QO ¥ @ TR @iy
A) 0 B) -1
1
© V2 ® <
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6 While calculating compound interest for some principal amount - 1
(A) the principal remains the same for every year.
(B) the principal changes every year.
(C) the interest is same for each year.
(D) the interest doubles every year.

forel i1 (q@9F) &1 wohglg &AW w@Aa BT o
(A) Y% qU H qagd @l @l § |

(B) uiq o @Y 9q@ ol § |

(C) Yd® I9¥ & 9 9 Edl ¢ |

(D) W% I M AT & ST 5 |

7 The value of sec 45° is : 1
(A) Not defined B) 2
©) 2 (D) 1
sec 45° & A ¥ :
(A) ufeaiya <@ % (B) 2
©) 2 (D) 1
8 If sin2A4=2sin A, then the value of 4 is.- 1

Jie sin24=2sin 4 %, @A A B HA T —

(A) 0° \\Q\Q (B) 30°
(C) 45° N (D) 60°
N
\Q‘Z)
9 The perimeter @ rhombus of side a is - 1
Tl ‘o’ g rate ¥ -
A) o’ (B) 4a
C) 2a (D) 2a
10 The point whose co-ordinates (4, —2) lie is the - 1
(A) 18t Quadrant (B) 2nd Quadrant
(C) 3t Quadrant (D) 4th Quadrant
s fig fas feaew @, 2) %, Rea ¥ -
(A) wgq Tgaisr o (B) feim agutsr
(C) Ja aguter ¥ (D) =gd aguter o
62/0S/2—211_B | 5 [ Contd...
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11 If the co-ordinates of the vertices of a triangle are (2, —1), (3, —2) and (4, 3), 1
then find the centroid of the triangle.

gty uw Brger & ofiwt & Frdsties (2, -1), (3, —2) Tar (4, 3) ¥, a1 Byt &1 Fsk
MBI |

12 Find the LCM of 4x? y3 and x° y2 where x and y are prime numbers. 1

IR x qET p AT WEAE ¥, @A 4x2)° qEm 20y @ @dd. (LCM) Sd BT |

13  Find the volume of a cuboidal stone slab of length 2 m, breadth 3 m 1

and thickness im

Teh TR GeIR Bl TE bl ST T1d Hive, afE 39! ware 2 |, TeE 3 9
amﬁms‘%ﬁ’r%

14 In the given figure AOB is the diameter of the circle, 4C =3 cm and 1

BC =4 cm, then what is the radius of circle ?
T I H AOB g9 W AE B, de AC=3FH qUT BC =47 ¥,
ar g @ B feae %Qg’\\

Q
c R\
&6
M
S
15 If 12% of x=69, then find the value of x. 1

g x B 12%=69 &, d x & TF Fd BT |

16 Evaluate : 2
HH Sd Elrfll?ﬂq :
(0.47 x0.47+0.35%x0.35-2x%x0.47 x0.35
0.12
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N

17 In the given figure AB||QOR; if AP=4cm, AQ=3cm and BR=4.5cm,
then find the value of x.
A T i ¥ AB||OR ¥ 1 TR AP =4 T, 40 =3 AW qAT BR=4.597 ¥,
A x B A T BHINY |

18 Radius of two circles are 3.5 cm and 2 cm and the circles touch internally at a
point. Find the distance between the two centres.
a1 gal @ B 3.5 EHN qUT 2% ¢ 9« g9 Us gEl dl-UG o g W
Wl BT | FAl kA BA b S DI GU A DI

19 If the angle of elevation of a flying kite, from the ground is 60° and the length
of the thread is 2043 m, then find the height “of the-Kite from the ground.
T TH IsAd FC T B M F IET B 60° 7 TAT TADI SIA Bl @IS
203 ® ¥, @ wim @ gt ¥ FE o g |

20 The number of mobile se@ each of the 25 households are given below :
1, 2, 2, 4, 2, 1,3,3@,2,3,4,5, 1,1,1,2,3,0,1,2,1,2,0
Now construct a\ ency table for this data.
zsaﬁﬁq@g@ﬁwaﬁaﬁm%aﬁ%:
1, 2, 2, 4, 2§], 3,3, 1,0,2,3, 4,5 1,1, 1,2,3,0, 1,2, 1, 2, 0
SUe SMThs! & fU U SERar areen s |

21 In a triangle-4BC mid points of BC, CA and AB are D, E and F respectively.
EF intersects ‘the altitude AD at 0. If AD =6 cm, then find the length of AO.
s ISt ABC ® D, E @ F %99 BC, CA A AB % AeAf§g & | EF @9 AD
B 0 X URTSBT B § | AR AD=6THW ¥, @ 40 B TOE T B |

22 If the price of a book is reduced from I 120 to ¥ 96, what is the percentage
reduction ?
e TH gwd B g T 120 ¥ g X 96 HY famm wmg, @t wfasa & e
HINTT |
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23 If sinl06=cos86 and 106 is an accute angle, then find the value of tan96. 2
angles.
IfE sinl00=cos860 T WEih 100 Tk ?fl'cﬁl'“T T, @ tan90 & 9N I BT |
24 If the base of an isosceles triangle is of length 12 cm and the length of each 2
equal side is 10 cm, then find the area of the triangle.
gic Th TGS YT & YR &I @ s 12 T 3 a0 YAe GHE g 10 wH
W 2, A BYS ® % Fd Hig |
25 If the mean of the numbers xq, x5, x3, ..., ;9 1s 20, then what will be the mean 2
of x;+4,xy +4,x3+4,...... ,Xj0+4 ?
Iy et X5 X5 X35 cuee , X]0 1 71T 20 %, a x1 +4, xp +4, x3+ 4, , X190 +4
HT AT T TAM 7
26 In the given figure O is the centre of the circle and-the .angle between two 4
radii OA and OB is 130°. If the tangents to the circle from the points 4 and B
intersect at 7, then find £ ATB and /£ ATO.
A M BT W, O JT B R ¢ qoT BeEme 04 I OB & G H BT 130°
TIAG AT BY g7 W Wi TS Wl W T W FHedl ¥, A L ATB qU
Z ATO ¥@ JeT | ,@
Q
27 Two different~dice are thrown together. Find the probability that the numbers 4
obtained on both dice
(i) have a sum less than 7.
(i1)) have a product less than 16.
A = ol W TH WY I8N S € | Wi @ e 6 e aml W
o deett
() @ AT 7 Y BT |
(i) @1 EHA 16 F B T |
62/0S/2—211_B | 8 [ Contd...
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28 The following is the frequency distribution of ages (in years) of 20 members
of a club. Draw a frequency polygone for this data :
Ages | 20-30{30-40]40 50|50 - 60|60 70|70 - 80
Number of
Members‘l‘3‘l‘6‘4‘5
Th Fd &b 20 Gl Bl oY (AWl H) w1 gRIRAr §eF A femm mm ¥
3 sl ¥ U SHERAT S I WiT |
ag (aut ¥) |20—30|30—40|40—50|50—60|60—70|70—80
s wen| 1 | 3 | 1 | 6 | 4 | 5
OR / 3y
(For Visually impaired students)
(sfe i fed ® fo)
For the following frequency table :
Classes 15-20({20-25{25-30]30—-35|35—-40 (40 —45|45 - 50
Frequency 2 3 5 7 4 3 1
(i) Write the class limits of the class 25— 30.
(ii) Find the class mark of the class 35 —40.
(iii) Write the lower limit of the class 15 —20.
(iv) Form a cummulative frequency table:
= ariaar el & ﬁl‘l'{ :
Gl | 15-20[20425[25-30(30 - 35354040 45|45 - 50
w0 o2 JN3 [Lso 7 | o4 | o3 o
() @ 25-30 a%'b dmm fafaw |
(i) =T 35-4 i fag fareg |
(i) @ 15250 @ - @ fafaw |
(iv) dad1 SREar |reen 9T |
29 An electric post stands vertically on the ground. The angle of elevation of the top
of the post from a point on the ground which is 33 meters away from the foot of
the post is 30°. Find the height of the post. [Use = 1.73]
T (ISl B GET Y T YT @I ¢ | @ % U § 33 W @ g W 9RE
% Up fig § w9 & R &1 I A 30° % | Y @ S §d B |
[V3=1.73 @R
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30 A shopkeeper sells rice at a profit of 10% and uses weights which weighs 10% 4
less than the actual weight. Find the total gain earned by the shopkeeper.
Th THAER 10% @9 T I6d S9dl ¢ g 98 S 91 JAN & 8, a8 10%
F TAd & | THEGR P IRAMS A TG IS |
31  Subtract xZ—x—1 from the sum of 3x2—8x+12 and —3x%+11x+3. 4
3x2 —8x+12 AU 3x+11x+3 & AMHA ¥ ¥ x°—x—1 HZEY |
32 Find the solution of the following pair of equations : 4
= wfieer gm @1 '@ S HIg
3x+4y=17,4x-3y=6
33 Prove that the three points with co-ordinates O (0, 0), 4 (4, 3)-and B (8, 6) are 4
collinear.
fog HIve 6 99 fog, s fdatis O (0, 0), 4 (4, 3) T&T B(S, 6) &, Tx@ ¥ |
34 A metalic solid of volume 1 m3 is melted and drawn into the form of a wire 6
of diameter 3.5 mm. Find the length of the wire so drawn.
g1g & o, e omaad 19§, @ frawmse 3.5 JE 9 6 UH dX b T4 H
g T | 39 YHR I AR I @SS TG i |
35 Prove that in a triangle@e square on one side is equal to sum of the squares 6
on the other two sid@hen the angle opposite to the first side is a right angle.
w&wﬁwa@wmaﬁwﬁw@%mﬁ%tﬁﬂ%ﬁw%
awm&wwmwmmm% |
36 If a quadratic_equation ax® +bx+c=0 have two roots in the ratio 1 7, 6
2 .2
then prove that m=b_
r ac
afy feard @l ax’ +bx+c=0 % YA B oA 1:r %,
2.2
d frm dtm fr UFD0 P
r ac
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This Question Paper consists of 36 questions and 10 printed pages including 4 figures + Graph Sheet.

3 G- ¥ 36 YT qur 10 Hixq g ¥ e 4 foF - v e ¥

Roll No. Code No. 62/0S/2
AT S qEA
Set No. - C
MATHEMATICS AT T
Q211)

Day and Date of Examination

(wvem =t fom 7 fe=in)

Signature of Invigilators 1.

(Friei % swer)

2.

General Instructions :

1 Candidate must write his/her Number on the first page of the Question Paper.

2 Please check the Questio ?’éper to verify that the total pages and the total number of questions
contained in the Questi aper are the-same as those printed on the top of the first page. Also
check to see that the stions_.are in sequential order.

3 For the objective of questions, you have to choose any one of the four alternatives given in
the question i.% , (B), (C)and (D) and indicate your correct answer in the Answer-Book given
to you.

4 All the questions including objective type questions are to be answered within the allotted time and
no separate time limit.is fixed for answering objective type questions.

5 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

6 Write your Question Paper Code No. 62/0S/2, Set — on the Answer-Book.

7 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer

in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugh, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the answer-book.

(b)  Ifyouchoose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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A ST

1

2

TUETE Y9I b UEH USS UX SUAT SThHIh oAy g |

FUAT YIS Bl TG o {6 YTUH F P YoSI qUT YA Bl I & TE&AT & T Yo ISs
% 99 FUX BUI ¢ | 39 I1G B A9 W B W 6 YT hiHp €A ¥ |

Jegfres gl & smuml @ fawedt (A), (B), (C) @41 (D) § ¥ i3 Tk A A1 & qan 4
T SA-gRas § 9 Hel X faray |

JEIFTSS Yol & T-|re qH Ul & I (eiika oty & Wi & 3 € | axghre weAt
% foQ o @ w9g Tl fean s |

SA-YRaaT ¥ veaH-fag e stean fifds el & sifafiad & ff sghie faes w
AT Bl ST SETAT SR |

AT T -GRABT T WU BN Bie @A 62/08/2, Set — [C | R |

(@) WIS haw fEal/eien § ¥ | fAT off, afs oy o€ @t e 3 13 fopell Uwsp mon § SR
T ghd ¢

picpull, ARG, TR, U], B, Hgpa ofiT el |

ngﬁawﬁ%mwﬁﬁi@%m%&wﬁwﬁm@%|

(@) 3fx oy & we & %aﬁrﬁaﬁﬁﬁ@wwﬁwmﬁ%?ﬁuﬁaﬁwﬁ
ﬁ@%a@gﬁ@mﬁwmmw|

@Q
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Time :

MATHEMATICS
(o)
@11)

1
25 Hours] [Maximum Marks : 85

1
W:ZEEI'U%] [qurics : 85

Note :

et

(i)

(i)
(iii)
(iv)
V)

(i)
(iii)
(iv)
v)

Question Numbers 1 to 10 are Multiple Choice Questions. Each question
carries one mark. For each question, four alternative choices (A), (B), (C) and
(D) are provided of which only one is correct. You have to select the correct
alternative and indicate it in the answer-book provided to you by writing (A),
(B), (C) or (D) as the case may be. Q. No. 11 to 15 also carry one mark each.

Question Numbers 16 to 25 carry 2 marks each.

Question Numbers 26 to 33 carry 4 marks each.

Question Numbers 34 to 36 carry 6 marks each.

All questions are compulsory.

~

99T & 12' 10 a% Sg[ahedl 999 (Multiple Choice Questions) ¥ | U
EER] u@m & ¥ Y 99T § 9 fawew (A), (B), (C) dur (D) fow w
%%ﬁ%%@rmwaﬁ%mwﬁww%ammuﬁw
T AT FI-YRaH H (A), (B), (C) Frgar (D) St o1 &, fa@ay qvin
TLUST "Em 11 % 15 ff 7% ok & T

UYT w16 § 25 9% TS 9T & 2 3id T

U W@ 26 € 33 T% UIH U &b 4 3% |

U7 W@ 34 ¥ 36 T% UA® U b 6 3F

gl g AtEd ¥
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1 The perimeter of a rthombus of side a is - 1
Yol ‘@’ Il GHEgHS B 9T § -
2

(A) a B) 4a
(C) 2a (D) 2a
2 The point whose co-ordinates (4, —2) lie is the - 1
(A) 15t Quadrant (B) 2" Quadrant
(C) 3t Quadrant (D) 4th Quadrant
s fig fras feae @, 2) ¥, Rea ¥ -
(A) wgq Tguafer ¥ (B) fadmr =guter o
(C) Jaa aTgatsr ¥ (D) =gd aguter o
3 How many lines can be drawn passing through two given-points ? 1
(A) One (B) Two
(C) Three (D) Infinity many
& fro o Rigsll A T@ A an feat Y@d @i st ogedr ¥ 7
(A) Up (B)
(C) (D). euftfa &9 ¥ oM
~
4 In a parallelogram A4 if ZBAD = /ABC, then ABCD is a - 1
(A) Rhombus \Q(b’ (B) Rectangle
(C)  Trapeziug\ (D) Kite
Th G agHs ABCD ® A& LBAD = LABC, @ ABCD U T
(A) THAGHS (B) amad
(C) waes (D) T
5 In 1—2xy+2x2y2 —2xy2 +5x2y, the co-efficient of xoyo is - 1
1-2xp+2x2y% =202 +5x%y § 100 @ NG
(A) 5 B) 2
© 1 D) 0
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6 Which of the following is in AP ? 1
=1 9 9 @l os wwioT 9%l % 7

(A) 6,7, 8, 9, 10, ... B) -5, -1, 3, 8, 11, ......
(C) a, atb, a+2b, a+4b, ... (D) 3, 7,12, 18, 25, .......
7 From the following identify the whole number : 1
= o ¥ @ O g @ TwEE &g
A) 0 B) -1
1
© 2 ™) 3
8 sin? 50° — cos2 40° is equal to - 1
A 1 B) 0
1
C) Not defined D) —=
(C) Not define (D) NG
sin® 50° — cos” 40° TET ¥ —
A) 1 B) 0
1
C i T2l D) —=
(€) TR el D) N5
9 While calculating compound interest for some principal amount - 1

(A) the principal remain%@e same for every year.
(B) the principal cha &S every .year.

(C) the interest is ,§ for each «year.

(D) the interest@ es every year.

fed Tt (e @ wmghs e Tt B
(A) 9&H TS gl @A |

(B) uiq a¥ Y@Y" Fa@ ol § |

(C) Y% I8 @ & g9 @l § |

(D) Y& a¥ @< AT & S g |

10 The value of sec45° is : 1
(A) Not defined B) 2
©) 2 (D) 1
sec 45° <l HMHA % :
(A) ufefg @& ¥ (B) 2
©) 2 (D) 1
62/0S8/2—211_C | 5 [ Contd...
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12

13

14

15

16

17
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In the given figure AOB is the diameter of the circle, AC =3 cm and
BC =4 cm, then what is the radius of circle ?

A T A ¥ AOB g9 W AW ¥, AR AC=3FH qUT BC=4¥H ¥,
@ g B B fea 7 o?

C

A }

7
If 12% of x =69, then find the value of x.
i x B 12%=69 ¥, d x & I Td BT |

Find the volume of a cuboidal stone slab of length 2 m, breadth 3. m and

thickness % m.

Teh TR GeR Bl TE bl ST od Bive, afE 39l @er 2 91, 9EE 3 9
awﬁz@%ﬁr%

If the co-ordinates of the vertices of a triangle are (2, —1), (3, -2) and (4, 3),
then find the centroid of the triangle.

gfy usw Brqger & ofiwt & Frgaie (2, <1),(3, 2) a4, 3) &, a1 Byt &1 Fsk

Q
MA@ BT | g\\

&
Find the LCM 0&@& and ¥ y where x and y are prime numbers.
IR x qE@m y @J sem &, d 4x2)? g xOy? @ @Ed. (LCM) Fd i |
Write in standard. form the following quadratic equation :

= feama s & A% ' F faRag
(x+1)(x+2)=3x+1

The number of mobile sets in each of the 25 households are given below :
1,2, 2, 4,2, 1,3,3,1,0,2,3,4,5 1,1, 1,2,3,0, 1,2, 1,2, 0
Now construct a frequency table for this data.

25 w0 § A% H AERA 9 @l §en ™ @ W R

1,2, 2,4,2,1,3,3,1,0,2,3,4,5 1,1, 1,2,3,0, 1,2, 1, 2, 0
ST Siwsl & f ue arErar el sre |
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18 If the angle of elevation of a flying kite, from the ground is 60° and the length 2

of the thread is 2043 m, then find the height of the kite from the ground.
Iy TH Isd FC TG B YW ¥ ITEAT B 60° ¥ QAT THB! S BN AR

203 ® ¥, @ wim @ gt ¥ FEE T difg |

19 If the mean of the numbers xi,x5,x3,....., ]9 1s 20, then what will be the mean 2
of x;+4,xy +4,x3+4,..... ,Xj0+4 ?

iy gerert X5 X5 X35 cuee , X]0 1 |71 20 %, ar xp+4, xp H4,x3+4, . , X190 +4
H AT T BT ?

20 If sinl006=cos86 and 1060 is an accute angle, then find the value of tan96. 2

angles.

Ifg sin100=cos86 ¥ Wafk 106 QEEWUT%, qr tan9 O (T T 3T BT |

21 If the base of an isosceles triangle is of length 12 cm and the length of each 2
equal side is 10 cm, then find the area of the triangle.

g uh ufEag B & oMU @ Wars 12 W oE 9 Yde §HH e 10 o
U ke 0 S o = e L L

22 If the price of a book is (&Luced from ¥ 120 to ¥ 96, what is the percentage 2
reduction ? K\Q
Uﬁwww@lzoﬁw?%mﬁmm,aﬁwﬁrmwﬁaﬁ

BT | Ny
S

23 In the given%?gure AB||OR ; if AP=4cm, AQ=3cm and BR=4.5cm, 2
then find the value of x.
& TS ey HoAB|OR ¥ 1 TG AP =47, 40 =3 qur BR=4.5% ¥,
qr x BT TE T DI |
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24

25

26

In a triangle ABC mid points of BC, CA and AB are D, E and F respectively.
EF intersects the altitude AD at 0. If AD =6 cm, then find the length of AO.
s IS ABC ® D, E qen F %99 BC, CA A0 AB % AeAf§g & | EF @9 AD
H 0 U Yaee HIdl & | AR AD=6TW ¥, A 40 & @EE T ST |

Radius of two circles are 3.5 cm and 2 cm and the circles touch internally at a
point. Find the distance between the two centres.

T gl @ AW 35 EHT AT 29§ qUT 99 Uh qE! B UH oI (695 W
Wl wW ¥ | gl H A HE B S B U T b |

The following is the frequency distribution of ages (in years) of 20 members
of a club. Draw a frequency polygone for this data :

Ages | 20 30| 30 40 40 - 50| 50 — 60| 60 — 70| 70 — 80

Number of

Members‘l‘3|l‘6|4‘5

TH F9 & 20 GIEl Bl oY (AW #) B IHIRAr §eF AW fEdm W o§ |
3 bS] ¥ U SHERAl 9 ab Wiy |

arg (@t %) | 20-30[30 - 40[40- 5050 - 6060 ~70]70 — 80

wEid @ 1 | 3 | 1 | 6.4 4] s
OR / 3t
(For Visually impaired students)
Tifya. fend@ ¥ fo)
For the following freq éfic% table :
Classes | 15-28120-25[25<30]30- 35|35 40|40 45|45 50

Frequency|&§or|3|5|7|4|3|1
(i) Write t Q%]ass limits of the class 25— 30.

(ii) Find the  class. mark  of the class 35 —40.

(ii1)) Write the.lower limit of the class 15— 20.

(iv) Form aa cummulative frequency table.

= sErar. .\ & fag

il | 15-20]20 - 25|25 30|30 35|35 — 40|40 — 45| 45 50

@@ | 2 | 3 | s | 7| a4 | 3| 1
() @ 25-30 & o g9 f@Ray |

(i) @ 35-40 @1 T fug fafaw |

(iii) M 15-20 & a9 d fafag |

(iv) o SERar "Rl g9 |

2
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27 In the given figure O is the centre of the circle and the angle between two
radii O4 and OB is 130°. If the tangents to the circle from the points 4 and B
intersect at 7, then find £ ATB and £ ATO.

M BT W, O JT B Bx ¢ qo1 Brewmettl 04 I OB & G H HOT 130°
TIAR AT BH g7 W Wi TS @t W 7T W Fdl ¥, A L ATB qU
Z ATO ¥@ &ifeT |
A
T
B

28 Prove that the three points with co-ordinates O (0, 0), 4 (4, 3) and B (8, 6) are
collinear.
fog S 6 99 fig, e et O (0,°0),4' (4, 3) Tam B (8, 6) &, Tx@ ¥ |

291 x% =sin230°+ 4 cot2 45— 5ed260°) then find the value of x.

S
i x2=sin230&&cot245°—se0260° %, @ x & 9 TG BN |
S
30 Find the solution.of the following pair of equations :
e wiier g™ @l ' §d Hieg
3x+4y=17,4x-3y =6
31 A shopkeeper sells rice at a profit of 10% and uses weights which weighs 10%
less than the actual weight. Find the total gain earned by the shopkeeper.
% THAAR 10% @MW T I6d S9d1 ¢ g 98 SN 91 JAN & 8, a8 10%
F T & | THEER P IRAES A9 TG IS |
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32

33

34

35

36

Two different dice are thrown together. Find the probability that the numbers 4
obtained on both dice

(i) have a sum less than 7.

(i1)) have a product less than 16.

o = Ul @ U Wy SR WA | WiRiehdT I eiie f6 i ural ux
g Tt

() @ AT T H BH R

(i) @ THEET 16 T FF T

Subtract x2 —x—1 from the sum of 3x2 —8x+12 and —3x2 +11x+3. 4

3x2 —8x+12 T 3x2+11x+3 & TTHA §F ¥ x> —x—1 TR |

A metalic solid of volume 1 m3 is melted and drawn into the form of a wire 6

of diameter 3.5 mm. Find the length of the wire so.drawn.

g1g & 3, e omaad 190§, @ fraamese 3.5 JE 9 b UH dX b T4 H
g T | 39 YHR I AR B AT B |

™~
Prove that in a tria if the square on one side is equal to sum of the squares 6
on the other two\®s then the angle opposite to the first side is a right angle.

trﬁq'qaa%ﬁ%\%@gwwaﬁ 3 & el & Mk AR b FEM T,
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f1+4+7+10+.......... +x =287, then find the value of x. 6

e 1+4+7+10+ ... +x=287 %, @ x ® AW I BIWT |

62/0S/2—211_C | 10 [ Contd...

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

X Roll No.

62/0S/2—211_C | 11

v

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

